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Abstract

When phase | data are from a mixture-normal distribution, we propose
an EM-MLE method to estimate in-control process parameters and to
construct control charts accordingly.’A'simulation study shows that the
new method performs better than the method commonly used practice, in
terms of parameter estimation, the false-alarm-rate and detecting power in
phase | analysis ,and the average run length in phase II.
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0.05 0.0448 0.0456 0.0500 0.0562 0.0625 0.0700 0.0791
0.1 0.0443 0.0466 0.0544 0.0637 0.0759 0.0876 0.0997
0.15 0.0448 0.0479 .0.0576 0.0700 0.0844 0.1000 0.1168
0.2 0.0447 0.0487 =0:0603 0.0750 0.0900 0.1093 0.1286
€) oxis
fo}
P
0 0.5 1 1.5 2 2.5 3
0.05 0.9994 0.9998 0.9997 1.0002 1.0007 1.0000 1.0003
0.1 0.9995 1.0002 1.0001 0.9995 0.9997 0.9999 0.9998
0.15 0.9999 0.9999 1.0002 1.0002 0.9997 0.9993 1.0001
0.2 1.0003 1.0003 1.0004 1.0001 1.0006 1.0000 1.0002
d) ot i
o
P
0 0.5 1 15 2 2.5 3
0.05 0.0352 0.0350 0.0349 0.0361 0.0354 0.0350 0.0349
0.1 0.0354 0.0355 0.0353 0.0351 0.0357 0.0352 0.0354
0.15 0.0354 0.0353 0.0355 0.0348 0.0355 0.0352 0.0353
0.2 0.0356 0.0352 0.0352 0.0356 0.0354 0.0354 0.0353
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fow X FHIBY m=1007% £ §#E3E 3 fro o B35 10000 % % #c i 3 eh
[t

() uxo

p
0 0.5 1 1.5 2 2.5 3

0.05 0.0000 0.0238 0.0355 0.0247  0.0069  0.0042  0.0034
0.1 0.0003 0.0488 0.0756  0.0522  0.0151  0.0096  0.0124
0.15 0.0004 0.0733 0.1199 0.0892 0.0289  0.0185  0.0259
0.2 -0.0008 0.0968 0.1662 0.1402  0.0497  0.0346  0.0505

(b) pihit £

p

0.05 0.0446 0.0471 0.0500 0.0514 0.0480 0.0472  0.0468
0.1 0.0461 0.0477 0.0558 0.0596 0.0520 0.0493  0.0491
0.15 0.0459 0.0499 ,0.0614; | 0.0717 - 0.0574  0.0524  0.0527
0.2 0.0456  0.0505 =0:0658 0:0862 - 0.0657 0.0565  0.0600

) oL

p
0 0.5 1 1.5 2 2.5 3

0.05 1.0001 0.9999 0.9997 1.0001  1.0005  0.9997  0.9999
0.1 0.9999 09998 0.9999 1.0000 0.9994  0.9996  0.9997
015 1.0001 1.0003 1.0006 1.0004 0.9999  0.9998  0.9997
0.2 1.0001 1.0001 0.9999 1.0009 0.9998  0.9998  0.9997

d) oL

p

0.05 0.0351 0.0357 0.0355 0.0360 0.0362 0.0366  0.0363
0.1 0.0350 0.0356 0.0354 0.0367 0.0368  0.0374  0.0374
0.15 0.0349 0.0349 0.0356 0.0374 0.0382 0.0387  0.0391
0.2 0.0354 0.0357 0.0357 0.0374 0.0395 0.0405  0.0406

56



33 0 X H WP m=100% EM-MLE i &3y, fro » #h 10000 = % 8 & 3

EA-
() ux
» )
0 0.5 1 15 2 2.5 3

0.05 -0.0011 0.0170 0.0094 0.0000 -0.0028 -0.0001  0.0007
0.1 0.0013  0.0877 0.0292 -0.0003 -0.0010 -0.0005 -0.0004
0.15 -0.0003 0.0572 0.0513 -0.0040 -0.0001 -0.0004 -0.0005
0.2 0.0008 0.0816 0.0771 -0.0002  0.0010 -0.0006  0.0015

(b) pihit £

P
0 0.5 1 1.5 2 2.5 3

0.05 0.0713 0.0732 0.0686 0.0620  0.0562  0.0532  0.0499
0.1 0.0711 0.0773 0.0744  0.0599 0.0499 0.0487  0.0473
0.15 0.0693 0.0801 ,0.0764: -/ 0.0596 + 0.0501  0.0488  0.0488
0.2 0.0710 0.0840 =0:0862 0:0602 @ -0.0523 0.0510  0.0504

) oL

p
0 0.5 1 1.5 2 2.5 3

0.05 0.9994 0.9998 0.9997  1.0002 1.0007 1.0000  1.0003
0.1 0.9995 1.0002 1.0001 09995  0.9997  0.9999  0.9998
015 09999 09999 1.0002 1.0002 0.9997  0.9993 1.0001
0.2 1.0003 1.0003 1.0004 1.0001 1.0006 1.0000  1.0002

d) oL

p

0.05 0.0352 0.0350 0.0349 0.0361 0.0354 0.0350  0.0349
0.1 0.0354 0.0355 0.0353 0.0351 0.0357 0.0352  0.0354
0.15 0.0354 0.0353 0.0355 0.0348 0.0355 0.0352  0.0353
0.2 0.0356 0.0352 0.0352 0.0356 0.0354  0.0354  0.0353
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2200 X F 4P m=100 % g fro b < i 3R 3 4 foo 0 HEER 10000

0 0.5 1 15 2 2.5 3
0.05 -0.0011 0.0170 0.0094 0.0000 -0.0028 -0.0001  0.0007
0.1 0.0013  0.0877 0.0292 -0.0003 -0.0010 -0.0005 -0.0004
0.15 -0.0003 0.0572 0.0513 -0.0040 -0.0001 -0.0004 -0.0005
0.2 0.0008 0.0816 0.0771 -0.0002  0.0010 -0.0006  0.0015

(b) pihit £

P
0 0.5 1 1.5 2 2.5 3

0.05 0.0713 0.0732 0.0686 0.0620  0.0562  0.0532  0.0499
0.1 0.0711 0.0773 0.0744  0.0599 0.0499 0.0487  0.0473
0.15 0.0693 0.0801 ,0.0764: -/ 0.0596 + 0.0501  0.0488  0.0488
0.2 0.0710 0.0840 =0:0862 0:0602 @ -0.0523 0.0510  0.0504

) oL

p
0 0.5 1 1.5 2 2.5 3

0.05 09836 10103 1.0861 1.1299 1.0981 1.0658 1.0381
0.1 0.9829 1.0351 1.1538 1.0817 1.0074  0.9918  0.9903
015 09834 10540 12010 1.0285 0.9912 0.9876  0.9873
0.2 0.9828 1.0715 1.2362 1.0072  0.9899  0.9873  0.9885

d) oL

p

0.05 0.0675 0.0699 0.0847 0.1341 0.1668  0.1689  0.1549
0.1 0.0672 0.0715 0.0982 0.1759  0.1170  0.0859  0.0775
0.15 0.0675 0.0719 0.1150 0.1548 0.0809  0.0715  0.0723
0.2 0.0675 0.0729 0.1326 0.1264 0.0764 0.0718  0.0714
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X EHMY m=100% B4R B g fro RER S ol R4 R
10000 = 25 %

() uxo

p
0 0.5 1 1.5 2 2.5 3

0.05 0.0028 0.0027 0.0031 0.0032  0.0036  0.0040  0.0047
0.1 0.0028 0.0029 0.0035 0.0045  0.0062  0.0083  0.0115
0.15 0.0027 0.0031 0.0044 0.0068 0.0107  0.0172  0.0268
0.2 0.0027  0.0034 0.0057 0.0105 0.0194 0.0331  0.0542

(b) pihit £

P
0 0.5 1 1.5 2 2.5 3

0.05 0.0054 0.0055 0.0057 0.0059 0.0061  0.0068  0.0072
0.1 0.0055 0.0058 0.0063  0.0072 0.0087 0.0105  0.0132
0.15 0.0053 0.0061 ,0.0073; -/ 0.0093 + 0.0121  0.0168  0.0237
0.2 0.0053 0.0066 =-00086 0.0122°  -0.0179 0.0267  0.0396

) oL

p
0 0.5 1 1.5 2 2.5 3

0.05 NA 0.0273 0.1922 05769  0.8933  0.9886  0.9996
0.1 NA 0.0228 0.1637 0.5046  0.8453  0.9773  0.9985
0.15 NA 0.0203 0.1360 0.4402  0.7842  0.9571  0.9955
0.2 NA 0.0182 0.1134 03754 0.7165 0.9247  0.9885

d) oL

o
p
0 0.5 1 1.5 2 2.5 3
0.05 NA 0.0859 0.2047 0.2519 0.1501  0.0514  0.0085
0.1 NA 0.0508 0.1247 0.1716  0.1215 0.0465 0.0116

0.15 NA 0.0378 0.0960 0.1412 0.1176  0.0547  0.0168
0.2 NA 0.0312 0.0757 0.1219 0.1166  0.0656  0.0245
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10000 = £ %

() uxo

p
0 0.5 1 1.5 2 2.5 3

0.05 0.0027 0.0030 0.0047 0.0091 0.0126  0.0138  0.0148
0.1 0.0027  0.0031 0.0058 0.0124  0.0197 0.0224  0.0268
0.15 0.0028 0.0034 0.0067 0.0163 0.0280  0.0355  0.0444
0.2 0.0028 0.0038 0.0082 0.0202  0.0387  0.0553  0.0779

(b) pihit £

P
0 0.5 1 1.5 2 2.5 3

0.05 0.0053 0.0058 0.00/6 0.0125 0.0164 0.017/8 0.0186
0.1 0.0053 0.0061 0.0089 0.0163 0.0246  0.0271  0.0309
0.15 0.0054 0.0065 ,0.0099: | 0.0204 -+ 0.0322 0.0389  0.0461
0.2 0.0055 0.0071 =00115 0.0231 -0.0416 0.0544  0.0698

) oL

p
0 0.5 1 1.5 2 2.5 3

0.05 NA 0.0262 0.1802 0.5406  0.8210  0.9888  0.9994
0.1 NA 0.0228 0.1614 05345 0.8385 09789  0.9986
0.15 NA 0.0196 0.1420 0.5141  0.8468 09621  0.9965
0.2 NA 0.0176 0.1228 04751 0.8482 0.9316  0.9905

d) oL

o
p
0 0.5 1 1.5 2 2.5 3
0.05 NA 0.0892 0.2074 0.2683  0.1985  0.1617  0.1603
0.1 NA 0.0534 0.1371 0.1990 0.1484  0.1227  0.1237

0.15 NA 0.0385 0.1095 0.1780 0.1271  0.1057  0.1037
0.2 NA 0.0316 0.0915 0.1685 0.1176  0.0933  0.0937
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F4 }%‘ﬂﬂl%]t‘ m=100* EM-MLE i % 3"y, fro chi B S fo il 4 > 0
#t 10000 = e &

() ux

p
0 0.5 1 1.5 2 2.5 3

0.05 0.0033 0.0034 0.0032 0.0032  0.0030  0.0028  0.0027
0.1 0.0035 0.0035 0.0031 0.0031  0.0029  0.0028  0.0028
0.15 0.0033 0.0036 0.0033 0.0031 0.0029 0.0028 0.0026
0.2 0.0034  0.0040 0.0038 0.0030  0.0030  0.0027  0.0026

(b) pihit £

P
0 0.5 1 1.5 2 2.5 3

0.05 0.0058 0.0061 0.0059 0.0059  0.0057 0.0055 0.0054
0.1 0.0059 0.0062 0.0061 0.0060 0.0058  0.0055  0.0056
0.15 0.0057 0.0067 ,0.0064: | 0.0062 * 0.0059  0.0059  0.0056
0.2 0.0058 0.0074 =0:0075 0:0063 | -0.0061 0.0059  0.0060

) oL

p
0 0.5 1 1.5 2 2.5 3

0.05 NA 0.0305 0.2218 0.6358  0.9260  0.9945  0.9999
0.1 NA 0.0288 0.2075 0.6388  0.9279  0.9940  0.9999
0.15 NA 0.0258 0.1954 0.6430  0.9270  0.9947  0.9998
0.2 NA 0.0223 0.1815 0.6391  0.9270  0.9943  0.9999

d) oL

o
p
0 0.5 1 1.5 2 2.5 3
0.05 NA 0.0895 0.2173 0.2519  0.1343  0.0375  0.0055
0.1 NA 0.0586 0.1465 0.1745 0.0903  0.0263  0.0040

0.15 NA 0.0444 0.1219 0.1464 0.0743  0.0196  0.0037
0.2 NA 0.0355 0.1097 0.1304 0.0652  0.0179  0.0028
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X FHB =290 p=02pF% 42532 3 Sk

S lEE I ¥ chARL

5
m ARL, ARL,
0 0.5 1 1.5 2 25 3

20 126.9675 297.789 46.4591 4.889119 1557689 1.077551 1.00654
30 98.57248 290.4632 35.89206 4.292703 1.499738 1.067387 1.005041
50 81.41554 289.451 28.14893 3.850738 1.450508 1.058354 1.003819
100 67.43647 294.8182 23.75079 3.601215 1.419914 1.05248 1.003071
200 62.04301 294.0881 21.98677 3.487266 1.404523 1.049553 1.002739
300 60.04845 296.8953 21.65987 3.471081 1.402816 1.049112 1.002672
500 58.83653 295.671 21.10089 3.430718 1.396968 1.048042 1.002564
1000 576698 296.2461 20.85895 3.415897 1.395052 1.047635 1.002514

©  370.3983 33.40078 4.495312 1.566493 1.075838 1.00482 1.000104

2

AL - X EAIR A0 =2fcp=02FF & HéE i Tt Sl AF R P

ARL
5
m ARL, ARL,
0 05 1 1.5 2 25 3

20 371.2702 113.696 15.41789 2.694917 1.610013 1.064163 1.006954
30 359.2671 82.06555 8.745305 2.021019 1.145642 1.014279 1.000785
50 355.3655 62.22221 6.386072 1.793656 1.11525 1.009635 1.000344
100 350.8763 49.23295 5544992 1.71079 1.101208 1.00757 1.00021
200 352.2484 44.94234 5313581 1.683616 1.096266 1.006902 1.000177
300 352.9314 43.62549 5.238808 1.674486 1.094592 1.006683 1.000167
500 353.0933 42.78439 5.192488 1.668998 1.093564 1.006543 1.00016

1000 353.8581 42.35123 5.17048 1.666608 1.093096 1.00647 1.000157
@ 370.3983 33.40078 4.495312 1.566493 1.075838 1.00482 1.000104
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2L X FHMES=24p=02p* EM-MLE# 3+ %

B lre Il P h ARL

o
m ARL, ARL,
0 0.5 1 1.5 2 2.5 3
20 4195828 52.69736 5.54102 2.059485 1.630862 1.065031 1.006322
30 389.9802 44.54323 5.137878 1.656354 1.191322 1.015442 1.001201
50 379.8026 39.08546 4.807639 1.603446 1.082962 1.005795 1.000148
100 375.0066 36.37864 4.669098 1.58808 1.079943 1.005349 1.000127
200 369.2918 34.79498 4.576909 1.576618 1.077783 1.005072 1.000115
300 369.967 34.43519 4.558168 1.574538 1.077357 1.005008 1.000112
500 370.9186 34.09268 4.53897 1.572247 1.076906 1.004946 1.000109
1000 369.6732 33.75816 4.518131 1.569525 1.076399 1.004885 1.000107
®©  370.3983 33.40078 4.495312 1.566493 1.075838 1.00482 1.000104
Lz 0 SPEHIMY m=100% B et o Hs 10000 % sk %
@) oL
» 4
1 1.5 2 2.5 3
0.05 0.9989 1.0301 1.0711 1.1210 1.1771
0.1 0.9998 1.0598 1.1378 1.2314 1.3366
0.15 0.9993 1.0879 1.2027 1.3329 1.4786
0.2 0.9995 1.1165 1.2620 1.4284 1.6064
(b) oL
» /4
1 1.5 2 2.5 3
0.05 0.0352 0.0396 0.0529 0.0727 0.0970
0.1 0.0348 0.0425 0.0619 0.0893 0.1188
0.15 0.0351 0.0454 0.0689 0.0975 0.1280
0.2 0.0353 0.0485 0.0737 0.1026 0.1353
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4wt SPEFIRY m=100% £ R &E 2 F3o,° 0 HoHk 10000 = ik %

(@ oo
/4
p
1 1.5 2 25 3
0.05 0.9971 1.0198 1.0253 1.0187 1.0127
0.1 0.9978 1.0436 1.0583 1.0468 1.0322
0.15 0.9974 1.0682 1.0999 1.0866 1.0595
0.2 0.9978 1.0947 1.1509 1.1425 1.0999
(b) o1& i
/4
D
1 1.5 2 25 3
0.05 0.0361 0.0393 0.0433 0.0436 0.0418
0.1 0.0358 0.0431 0.0525 0.0531 0.0497
0.15 0.0362 0,0464 0/0632 0.0707 0.0638
0.2 0.0361 0.0493 0.0753 0.0970 0.0916

L1 8° ¥ #1® ¢ m=100 * EM-MLEZf 3+ o,0 » HHe 10000 = el %

(@ oo
/4
p
1 1.5 2 25 3
0.05 0.9876 1.0040 1.0046 1.0026 1.0017
0.1 0.9887 1.0225 1.0288 1.0224 1.0172
0.15 0.9886 1.0418 1.0558 1.0397 1.0274
0.2 0.9887 1.0639 1.0815 1.0530 1.0350
(b) o1& i
/4
p
1 1.5 2 25 3
0.05 0.0357 0.0391 0.0405 0.0413 0.0405
0.1 0.0363 0.0422 0.0470 0.0494 0.0493
0.15 0.0360 0.0450 0.0567 0.0593 0.0560
0.2 0.0360 0.0477 0.0684 0.0715 0.0635
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2420 SPEFIRY m=100"% B3GR ol hEER F ol R4 0 R

10000 = his %

@ ati=
/4
p
1 1.5 2 2.5 3
0.05 0.0025 0.0022 0.0025 0.0024 0.0029
0.1 0.0025 0.0021 0.0026 0.0032 0.0042
0.15 0.0026 0.0022 0.0029 0.0042 0.0064
0.2 0.0025 0.0022 0.0035 0.0054 0.0089
(b) o &8 L
/4
p
1 1.5 2 2.5 3
0.05 0.0049 0.0049 0.0046 0.0050 0.0055
0.1 0.0051 0.0048 0.0052 0.0060 0.0070
0.15 0.0051 0.0051 0.0058 0.0072 0.0089
0.2 0.0050 0.0053 0.0066 0.0083 0.0109
(c) 1-pxi=
/4
p
1 1.5 2 2.5 3
0.05 NA 0.0765 0.2709 0.4746 0.6065
0.1 NA 0.0599 0.2124 0.3673 0.4787
0.15 NA 0.0492 0.1683 0.2820 0.3685
0.2 NA 0.0411 0.1297 0.2154 0.2785
(d) 1-pH=% 2
/4
p
1 1.5 2 2.5 3
0.05 NA 0.1355 0.2158 0.2367 0.2275
0.1 NA 0.0776 0.1266 0.1467 0.1502
0.15 NA 0.0550 0.0894 0.1063 0.1172

0.2 NA 0.0433 0.0687 0.0842 0.0945
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L= D SPHEAIRY m=100% £ REGE 2 o, hBERF o R4 o B

10000 = his %

@ ati=
/4
p
1 1.5 2 25 3
0.05 0.0025 0.0024 0.0027 0.0031 0.0036
0.1 0.0025 0.0023 0.0027 0.0037 0.0051
0.15 0.0026 0.0023 0.0030 0.0048 0.0068
0.2 0.0026 0.0023 0.0035 0.0058 0.00901
(b) o &8 L
/4
D
1 1.5 2 25 3
0.05 0.0051 0.0050 0.0054 0.0057 0.0062
0.1 0.0051 0.0051 0.0055 0.0064 0.0077
0.15 0.0052 0.0051 0.0060 0.0075 0.0092
0.2 0.0051 0.0053 0.0067 0.0086 0.0110
(c) 1-p=*3=
/4
p
1 1.5 2 25 3
0.05 NA 0.0781 0.3077 0.5469 0.7135
0.1 NA 0.0669 0.2766 0.5200 0.6974
0.15 NA 0.0558 0.2385 0.4793 0.6760
0.2 NA 0.0478 0.1938 0.4249 0.6379
(d) 1-pE® 1
/4
p
1 1.5 2 25 3
0.05 NA 0.1384 0.2445 0.2586 0.2331
0.1 NA 0.0872 0.1650 0.1863 0.1657
0.15 NA 0.0653 0.1344 0.1648 0.1490

0.2 NA 0.0526 0.1145 0.1595 0.1518
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LA SPE MY m=100* EM-MLE 2 &3+ 0,2 chi 848 S fo i iRl 4 Hohk

10000 = £ %

(@) a*i=
/4
p
1 1.5 2 2.5 3
0.05 0.0029 0.0028 0.0027 0.0028 0.0028
0.1 0.0029 0.0025 0.0025 0.0027 0.0027
0.15 0.0029 0.0024 0.0025 0.0027 0.0027
0.2 0.0031 0.0023 0.0025 0.0027 0.0025
(b) o &8 L
/4
p
1 1.5 2 2.5 3
0.05 0.0054 0.0055 0.0053 0.0055 0.0055
0.1 0.0055 0.0053 0.0053 0.0055 0.0056
0.15 0.0055 0.0053 0.0054 0.0058 0.0057
0.2 0.0056 0.0053 0.0056 0.0060 0.0058
(c) 1-pT=
/4
p
1 1.5 2 2.5 3
0.05 NA 0.0947 0.3431 0.5819 0.7387
0.1 NA 0.0813 0.3209 0.5615 0.7245
0.15 NA 0.0747 0.2913 0.5438 0.7162
0.2 NA 0.0641 0.2715 0.5309 0.7102
(d) 1-pE® 1
/4
p
1 1.5 2 2.5 3
0.05 NA 0.1518 0.2457 0.2512 0.2231
0.1 NA 0.0947 0.1648 0.1752 0.1552
0.15 NA 0.0744 0.1370 0.1497 0.1303

0.2 NA 0.0597 0.1251 0.1401 0.1181
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